با سلام
شبیه سازی با متلب 2013a و بر اساس شکل ه و جداول زیر انجام شده است
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که شبیه سازی به صورت زیر است
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که پارامترهای سیستم بادی بصورت زیر تنظیم شده است
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TABLE V.

PARAMETERS OF THE SIMULATED DFIG

Rotor

Rated power MW e 31mH
Rated voltage (phase (o Mutual
phase) 630 v inductance Ly, 3mH
Stator resistance R, 1.162 mQ Number of 4
pole P
Rotor resistance R, 13072 mQ DC link 16000uF
capacitor Cy
Stator inductance L, 31mH Grid 50 Hz

frequency
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Figure 1. Configuration of a DFIG
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Figure 3. Block diagram of a DPC for DFIG
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TABLE L. SWITCHING TABLE FOR DPC METHOD
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Figure 5. The block diagram of proposed method for RSC
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Figure 6. Direct current control for GSC
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Figure 7. Modified PLL




